TH6FIARBRIEALLGR

(BACM)HERFEZEST

38290 zgmiizgigﬁzﬁ fé?mgwmm% — 18 47,003000|  47,003000] 43242100 45018600 ILEEETH
3298 zg(ﬁg_‘g’iﬂyﬁéﬁgiﬁ fg‘ﬁm%ﬁﬁ”“’ — g 43307,000  43307,000| 39842000 40,260,000 ME={ET%
AB108 |[HOKBEETSE(E3) EATEAMAN | —i 21957,100]  21,957,100] 19,767.000] 19,767,000  GHT i
AR188 |MEHBZITE(LPEIFHM) f;fifﬁﬂ’ AN g 4,305,400 4,305,400 3,822,500 3,822,500 HAIREEM
4B198 |HEMBEIE(ZD1)  |[EamhRBA | E4E 3,080,000 3080000 2,750,000 2,750,000| (B 2R A 21
4A238 (METEIE(ETS) BRATESBHA | 154 5,057,800 5,057,800 4,502,300 4,502,300 EEBI%E
4E24E |PEOCCOCSRMRTEL \REMERET | 154 9,527,100 9527,100| 482,100 8482,100| (MM
4A258 |HEHEZIE(REEH) i%“m’%%ﬂm'i RS 6,014,800 6,014,800 5,339,400 5,339,400 WEER
a5t 140,252,200| 140,252,200 127,747,400| 129,941,900

4R 1.2




HH64E4 A RE -

RERVAEXRBRIEALER

(BACM)HERFEZEST

EREBHEEXNSEBRERE |BBAMKRLZET - BCATSo=>
4830H GRE=TH =) g - = 1l 54 2,873,200 2,873,200 2,202,200 2,728,000 W
=1 2,873,200 2,873,200 2,202,200 2,728,000

4R 2.2




